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Low impedance 
copper
plane in PCB.

These 4 Sync Bucks pour current into the same output. There is a 
danger that one of them may actually start boosing current from the 
output to its input. In order to stop this, the "low impedance copper
plane" as shown here is often used. This means that each buck "sees"
the same impedance to the output as each other, and so this will reduce
the cahnces of one of them starting to go into boost mode.

Controller for each
of the bucks.

Vout feedback
divider.

Four interleaved current mode sync Bucks all feeding into 
a single output and controlled by a single
feedback divider and a single controller.

The "Low impedance copper plane"
is needed because there is a different PCB trace
resistance from each buck to the single feedback divider.
-Hence there is the danger that one of them may go into 
boost mode, and start pushing current back from  the pooled
output , back to the input.
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